	[image: image20.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper- 2010
Class- X
Subject – Mathematics 

GENERAL INSTRUCTIONS:-

a. Question number 1-10 in Section-A are very-very short answer type and carry 1 mark each.
b. Question number 11-15 in Section-B  are  short answer type and carry 2 mark each
c. Question number 16-25 in Section-C are short answer type and carry 3 mark each
d. Question number 26-30 in Section-D are Long answer type and carry 6 mark each
SECTION-A
1. Using Fundamental theorem of Arithmetic find the HCF of 276 and 3660.

(1)
2. Write a polynomial whose zeroes are 1 and -3.
(1)
3. [image: image20.png]For what value of ‘k’ the system of linear equations
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 has a unique solution.
(1)
4. For what value of ‘k’ does the quadratic equation
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 has equal roots. (1)
5. Write the sum of first 15 terms of an AP whose first term is 2 and common difference is 5.  (1)

6. In the given figure
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[image: image4.wmf]2

15

)

(

cm

ADE

ar

=

D

. Find the area of
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 (1)
7. A wire is looped in the form of a circle of radius 28cm. It is re-bent to form a square. Find the area of the square.

(1)

8. The surface area of the sphere is
[image: image6.wmf]2

616

cm

. Find its diameter and volume.
(1)

9. The mean of 8 observations is 12.5 and the mean of another 7 observations is 5. What is the mean of all 12 observations?

(1)
10. Find the length of the tangent drawn to a circle of radius 3cm, from a point distant 5cm from the centre. 1
SECTION-B
11. Find the zeroes of the polynomial
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 and verify the relationship between sum and product of the zeroes with its coefficients. 
(2)
12. Solve for ‘x’:
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(2)
13. Find the coordinates of the point on x-axis equidistant from the points 
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(2)
14. In the adjoining figure,
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15. In the given figure, AB and CD are two diameters of a circle (with centre O) perpendicular to each other and OD is the diameter of the smaller circle. If OA=7cm, find the area of the shaded region.
(2)


OR

In the figure given a square OABC is inscribed in a quadrant OPBQ of a circle. If OA =20cm, find the area of the shaded region.




SECTION-C
16. Prove that
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(3)
17. The numerator of a fraction is one less than its denominator. If three is added to each of the numerator and denominator, the fraction is increased by
[image: image13.wmf]28
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. Find the fraction.
(3)
18. Which term of the AP 3, 15, 27, 39, ………. Will be 132 more than its 60th term?
(3)
19. Evaluate: 
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OR


[image: image15.wmf](

)

(

)

q

q

q

q

q

q

2

2

2

2

cot

tan

7

cos

sin

sec

cos

+

+

=

+

+

+

ec




(3)
20. Prove
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(3)
21. Find the area of the quadrilateral formed by A(2,1), B(6,0), C(5,-2) and D(-3,-1).

(3)
22. In the adjoining figure, ‘l’ and ‘m’ are two parallel tangents at A and B to a circle with centre F. Tangents at C makes an intercept DE between the tangents l and m. Prove that
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23. Draw two concentric circles of radius 3cm and 5cm. From a point P on the larger circle draw tangents to the smaller circle.
(3)

24. The line segment joining the points (2,1) and (5,-8) is trisected at the points P and Q. If the point P also lies on the line
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, find the coordinates of P and Q and value of ‘k’.

(3)
OR

Show that the points (1,7), (4,2), (-1,-1) and (-4,4) are the vertices of a square.
25. A card is drawn at random from a well shuffled pack of 52 cards. Find the probability that the card drawn is:

a. A card of spade or an ace.
b. a red king

c. neither  a king nor a queen  (3)

OR

A bag contains 6 red balls, 8 white balls, 5 green balls and 3 black balls. One ball is drawn at random. Find the probability that the ball is:

a. White

b. red or black

c. not green

SECTION-D
26. A window in a building is at a height of 10m from the ground. The angle of depression of a point P on the ground from the window is 300. The angle of elevation of the top of the building from the point P is 600. Find the height of the building.

(6)
27. Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding sides. Using this result prove that the area of the equilateral triangle described on the side of a square is half the area of the equilateral triangle described on its diagonal.
OR

In a right angled triangle, prove that the square of the hypotenuse is equal to the sum of the squares of the other two sides. Using the above stated result to prove that following: in a triangle ABC, AD is perpendicular to BC. Prove that
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28. A tent is in the form of a right circular cylinder surmounted by a cone. The diameter and height of the cylindrical portion are 24m and 11m respectively, while the vertex of the conical portion is 16m above the ground. 



(6)
a. Find the area of the canvas required for making the tent.

b. Volume of air present inside the tent.

OR

A  shuttle  cock  used  for  playing badminton has the shape of a frustum of a cone  mounted  on  a  hemisphere. The  external  diameters  of  the frustum are 5cm and  2cm, the  height  of  the  entire  shuttle cock is 7cm. Find its external surface area.   
29. A boat sails a distance of 30km upstream and 44km downstream in 10 hours. In 13 hours, it goes 40km up stream and 55km down stream. Find the speed of the sream and that of the boat in still water.
(6)
30. If  the  median  of  the  distribution  below  is  28.5,  find  the  values  of x  and y.  

(6)
	Class interval
	Frequency

	0 - 10
	5

	10 - 20
	x

	20 - 30
	20

	30 - 40
	15

	40 - 50
	y

	50 - 60
	5

	Total
	60
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